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» Please check that this question paper contains 11 printed pages.

s Code number given on the right hand side of the question paper should be
- written on the title page of the answer-book by the candidate.

» Please check that this question paper contains 31 questions.

» Please write down the Serial Number of the question before

. attempting it.

| s 15 minute time has been zllotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

~ students will read the question paper only and will not write any answer on

the answer-book duriag this period. e
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General Instructions :
@) All questions are compulsory.

(i)  The question paper consists of 31 questions divided into four sections — A,
B, C and D. ‘ |

(iii)  Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks cach, Section C contains 10 questions of 3 marks
each and Section D coniains 11 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

GUg A
SECTION A

YT GEIT] G4 T 9B JoT 1 HE FT 8 /

Question numbers 1 to 4 carry 1 mark each.

1. 200 % ¥ T XA & IGBA & W9 TH W I g A9 Fipert 4
yifedr 0-18 8 | & & 63 g€ Bal i gEwm w1 R 2

The probability of selecting a rotten apple randomly from a heap of
900 apples is 0-18. What is the number of rotten apples in the heap ?

30/3 2
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If a tower 30 m high, casts a shadow 1043 m long on the ground, then
what is the angle of elevation of the sup ?

\A/ R w @ g P A aﬁmmo%améqﬂqtaﬁﬁﬂéiﬁmﬂmaﬁ%
st 1 T 60° &, At OP ! =TS 1w ifire |

If the angle between two tangents drawn from an external point P to a
circle of radius a and centre 0, is 60°, then find the length of OP.
/@Wﬂta@ﬁ,ﬁaﬁazl—a7=84 &, %1 9T 3 R 2

What is the common difference of an A.P. in which 89— 2, =847

aeEd
SECTION B
T¥7 G&IT5 & 10 % T4 JoT 2 % 8 |
Question numbers 5 to 10 carry 2 marks each.

/5,/ v ga fordfl T ABCD &1 @it 9w yenait i vl o R | fag $ifm e
AB + CD = BC + DA
A circle touches all the four sides of a quadrilateral ABCD. Prove that
AB + CD = BC + DA

fag &g fa ga & fadt a1 & 31 gt o el md ool rand S &

6.
arg @ui? e @i
Prove that the tangents drawn at the end points of a P
make equal angles with the chord. chord
’ PTO
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A line intersects the y-axis and x-axis at the points P and Q respectively.
If (2, - 5) is the mid-point of PQ, then find the coordinates of P and Q.

M Px, y) A AG, 1) @ B(- 1, 5) & ghal waw @, @ fag Fifw fx
3x = 2y.

If the distances of P(x, y) from A(5, 1) and B(- 1, 5) are equal, then prove
that 3x = 2y.

P 1 98 A F1a <hiforg fraes fore fGuma afien px” - 14x + 8 = 0 %1 v g
SO 6 AT R |

Find the value of p, for which one rooi of the quadratic equation
px2-14x +8=0is 6 times the other.

nF ﬁa‘ﬂ A & f?flz 'c,;l T ”ﬂaEH 83, 65, 6 . a9l 3
£l ] g ees -
s 3, 10, 17 % nd 92

For What value of n, arc the n' terms of tw
o A.Ps 63,
3,10, 17,... equal ? ) b e

@uE |
SECTION C

J7 GET 11 & 20 7 T% 57 % 3 o §
Question numbers 11 to 20 carry 3 marks each.

11.

30/3

qatﬂm%maﬁﬂﬁﬁm?ﬁwﬂ%@wmﬁmz 4 M. qur 16 . H

P A ARGCIDPE |9 03 DA M 3 firgy 3 I For
THg@ F I F, ?ﬁtﬂﬂnﬁéﬁaﬁmaﬁrﬁm |

On a straight line passing throy
are at distances of 4 m ang 16
of elevation from C and D of th
find the height of the tower.

gh the foot of a tower, two points C and D
m from the foot respectively. If the angles
€ top of the tower are complementary, then
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A b&g contains 15 Whlt.e and some bla(‘k balls. If the pmbﬂblllt.v of
drawing a black ball from the bag is thrice that of drawing a white ball,

/ find the number of black balls in the bag.
. @R AP A, TS 3 W e % f anfgE, 45 ft A H T A AW
4-5 Tt o9 1 T S1vfae s Mg § | wrifed s 1 &6 §id AT |

Three semicircles each of diameter 8 cm, a circle of diameter 4-5 cm and a
semicircle of radius 4'5 cm are drawn in the given figure. Find the area of

the shaded region.

ham—vw—um—»

1 fig (%,y} fagatt P2, -2) @1 QB, V) N oW I TErEs # 5w
arqur | fennfora @t @ 2 y & 9H ft I1@ Hifde |

In what ratio does the point [%. Y] divide the line segment joining the
points P(2, - 2) and Q(3, 7) ? Also find the valye of y.

30/3
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Water in a canal, 54 m wide and 1-8 m deep, is flowing with a speed of
25 km/hour. How much area can it irrigate in 40 minutes, if 10 cm of
standing water is required for irrigation ?

16,/ < 7§ anfa #, OﬁﬁaﬁﬁmﬂﬁﬁWZIﬁW@@Tﬂ% |
A £ AOB = 60° 2, @ wrifhd I 1 &% F77 HF |

[n:Egmml

In the given figure, two concentric circles with centre O have radii 21 em
and 42 cni. If £ AOB = 60°, find the area of the shaded region.

22
U e
[Usen 7]
/’f, N\\
0]
600
4 C
\ i g
A B
30/3 6
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The dimensions of a solid iron cuboid are 4
melted and recast into a hollow cylindrical piPe of 30
ickness 5 cm. Find the length of the pipe.

18/ s faetn 35 &ft B 3 vigp % sy w51 2 S A
T JAEN Ferh T AR 2 | Raey i ot S 157D
|l ysdia &Ehe Td i | _
A toy is in the form of a cone of radius 3-5 cm mounted on a h-emlsphere
of same radius on its circular face. The total height of the toy i5 15°6 cm.
Find the total surface area of the toy.

8. TH wi 3G 9,17, 25, ... 3 e @ B oH T AT 636 BT ?

How many terms of an A.P. 9, 17, 25, ... must be taken to give a sum of
636 ? :

4mK26mX 1-0 m. It is
cm inner radius and

=T F AU |
afi 2 | feel =

2/0 afe Tl (a2 + b2) x2 - 2 (ac + bd) x + (¢? + d%) = 0 & YA WHH &, d
mﬁm%%=5.

d .
If the roots of the equation (a2 + b2 x%-2(ac + bd) x + (¢ + d?) = 0 are
equal, prove that % = %
@ ug T
SECTION D

T ge 2] 831 THVAF GH F 4 HFE |
Question numbers 21 to 31 carry 4 marks each.

21 a2 fig Ak + 1,20, BOK 2k +3) T Csp ) g o @ k# T
wma #ifae |

If the points Atk + 1, 2k), B3k, 2k +3) 4, C(5k — 1. 5k) are collinear:
then find the value of k. ,

30/3 7 T
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3

< T E

Construct a triangle ABC with side BC = 7 cm, / B = 45°, 2 A = 105°.
Then construct another triangle whose sides are 2 times the

corresponding sides of the A ABC.

23 2 faftrs Tl ) e S T | S R o s w9

30/3

(i)  ITHES TW B, iR
(i)  TUFEHS |9 B |

Two different dice are thrown together. Ilind the probability that the
numbers obtained have

1) even sum, and

~ (i)  even product.

& s #, XY @ XY, O %5 It g9 h Q FHIR TWHI@ | 71 TH
a1 weiX@r AB, fome @l fig € 2, XY %1 A 71 X'Y' & B W ¥idesq
wt & | g hifso 6 £ A0B = 90°.
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In the given figure, XY and XY’ are two parallel tangents to a circle with
centre O and another tangent AB with point of contact C, is intersecting
XY at A and X'Y’ at B. Prove that ~ AQB = 90°.

s
X.!

}/ ﬁs&ﬁaqf-aatiaéma——q'ﬁ, 227 x 20 ). Y B A TuI-oIA FEH 2 . U
% @ a1 35 M. ITE F T AeHHR 9 1 a1 @ | AR T momm A, @
T e 5 T § feaei auf g8 | e Teew W It faem sk R |

In a rain-water harvesting system, the rain-water from a roof of '
29 m x 20 m drzins into a cylindrical tank having diameter of base 2 m
and height 3-5 m. If the tank is full, find the rainfall in cm. Write your

views on water conservation.

@/ﬁzaﬁ%ﬁ%qﬁﬁwﬁwﬁsﬁqﬁm@eﬁnﬁamMﬁam

wo gt 8
Prove that the lengths of two tangents drawn from an external point to a
circle are equal.

9 P.T.O.
30/3
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If the ratio of the sum of the first n terms of two A.Ps is (7n + 1) : (4n + 27),
then find the ratio of their 9" terms.

X%%QEHW'

x-1  2x+1 1
— + — 9. gl )
ox+1 =1 2, X # 2,1

Solve for x :
x-1 N 2x +1
2x+1 x-1

=2, where x# - %,1

ATE FH B HW § B 62 70 dar 8 | IR A ik B QI Th W19 FW Hd
TUFA 4 fo & o weha €, <l BIA w1 g A A ok fe o 2

A takes 6 days less than B to do a work. If both A and B working together
can do it in 4 days, how many days will B take to finish it ?

100 Y. St TF HTR B DA/, wh e FR A ol Rwei d Fon
O A w5 & 3@ F, QB F EE B 30°F 45° 3@l § | B A=

£ 2f 7 AT | (V3 = 1732 fRT )

From the top of a tower, 100 m high, a man observes two cars on the
opposite sides of the tower and in same straight line with its base, with
angles of depression 30° and 45°. Find the distance between the cars.

[Take v3 = 1:732]
10 \ll>-
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In the given figure, O is the centre of the circle with AC = 24 cm,
AB =7cm and £ BOD = 90°. Find the area of the shaded region.

3013 AL
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